Bihar Board Class 7 Maths Solutions Chapter 9 SIS
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Bihar Board Class 7 Maths S &s® Ex 9.1

U 1.
fraferdta e § ¥ @R T4 3R IR[AT 71 H-
(a)5x + 2

(b) 2ab + 1

(c) 2x%y — 1 + 2x
(dm3-n2-1
(e) ox*y”

Bed:

(a)5x + 2

R =x

HdX =5, 2

(b) 2ab + 1
I =a,b
AR =2,1

(c) 2x%y* — 1 + 2x
W =x2y,x
AR =2,-1,2

(dm3-n2-1
¥ =m, n
AR = -1

(e) ox®y?
o = X,V¥,Z
HR =9

U 2.

fgferiad il & ual &I ugan-
(a)x2+2x+1

(b) 8a2 + 11ab = 2b?

(c) 9p* —4q

(d) a*b* -9

(e) 8ab —3b

B :
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(a)x2+2x+1
X2 =X XX

2X = 2 X X
1=1

U & 3w fafy @

(b) 8a2 + 11ab = 2b?
8a=8xaxa
1mab=11xaxb
2b2=bxbx2

(c) 9p® — 4q
9p®>=9xXpxDp
4q=4xq

(d)a%b% -9
a’b2=axaxbxb

(e) 8ab—-3b
8ab=8xaxb
3b=3xb

U4 3.

12x2y | x2y, X YT y BT 0T ddTsU-
B :

12X2yff

X2y BT UMD = 12

XyW‘IUW = 12Xy

y DT IUM® = 12x>

U4 4.

fafafiad ug gl § O 90 el & 99g fofau-
ox?y, 8xy?, 3ab, -7ba, 7ab?, -4b?, 7a, 7, 11a, -11a3,
2xy, -2xy, 8ab, -2a, -2, 1, -X, 3X, 8x, 8

Bd:

HHH Uc-

3ab, 8ab, -7ab

3x, 8x, -x

7,-2,1,8

11a, -2a

7a, 11a, -2a

x + 2x + 1
Ay SR
X x 2 X
v | |
8a’ tlab —2b
Pl /N /N
Ba b Ila b -2b b
| I
9p* —4q
/TN P4S
9p p 4 g
{ |
a'b’ -4
AN
Qubb
[ |
8ab =3b
/TN 2N
8 a b -3 b
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UY 5.

(a) 2x — y (fgudh

(b) a2 — 3 — 3a (U
(¢) 3mn (THUCN

(d) a%b — 7a + 6 (AU
(e) 322 — 2a (fgudh

Bihar Board Class 7 Maths SISl 3ole Ex 9.2

U4 1.

fAgfafad sl &1 Siis-
(a) 6ab + 7ab

Bd:

6ab + 7ab = 13ab

(b) 8x%y + (-4x3y)
ed:
8x%y + (-4x7y) = 4x%y

()xTdy—4
Bd:
X+y-4

dx-y,y-zz-z
B4 :

X-y+y—zZ+z2—-X=0

(e)3ab—-b+3b—ab
=3ab—ab+3b-b
=2ab + 2b

(f) X2_y2, y2_X2
B4 :

X2—y2+y2—x2:0

(g) a® + 2ab + b?, a® — 2ab + b?
Bd:

a% + 2ab + b% + a2 — 2ab + b?
= 2a2 + 2b?

=2(a® + b?)
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(h)3x+11+8z,5x—7
B :
3x+11+8z+5x—7
=3X+5x+8z2+11—-7
=8x+8z+4

Dx*-y*-1,y°—-1-x3,1-x>-y?

Bd:

X2-—y? 14y —1-x*+1-x*-y*=y*—-x* -1

Uy 2.

dcrgu-

(a) 32> H ¥ (-722)

(b) a2 + b2 H T (a2 - b2)

(c) a2 + 2ab + b2 H ¥ (a2 — 2ab + b?)
(b8 -a)HI-{ab - 3)}

(€) 3xy — 2x° — 2y> H Y (5% — 7xy + 5y°)
ga’ .

(a) 3a% — (-7a2) = 3a + 7a® = 10a°

(b) a®> + b> - (a® - b*) =a* + b*> —a®* + b* = 2b*

(c) a2 + 2ab + b2 — (a2 — 2ab + b?)
=a®+ 2ab + b —a% + 2ab - b?

= 4ab

(d) b(8 —a) —{a(b - 3)}

=8b —ab — {ab - 3a}
=8b—-ab—-ab + 3a

=8b —2ab + 3a

(e) 3xy — 2x* — 2y* — (5%* — 7xy + 5y°)
= 3xy — 2x* — 2y® — 5x* + 7Xy — 5y*

= 10Xy — 7x* — 7y*

U 3.

IR De-

() 4xy — 7x%y — 6xy + 2yz® + 4y*z — 3yz*
(b)a2+ab+b2+a%2+b%2—-ab+3

Bd:

() 4xy — 7x°y — 6xy + 2yz® + 4y*z — 3yz®
= 4xy — 6xy — 7X°y + 2yz° — 3yz® + 4yz®
= -2Xy — 7X°y — yz° +4y°z

(b)a®+ab+b2+a2+b%2-ab+3
=2a% + 2b% + 3
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UH 4.
X2+y2WW$ﬁ‘Iﬁ2X2+y2—3ﬁWGﬁ3
ed:

2x2 +y2 -3 — (x> +y?)
=2x2+y*—3-x>—-y?

=-3

U4 5.

a+b + ¢ U B & AT 7a — 8b H &1 G AR T-
B4 :

7a—8b—-(a+b+c)

=7a—-8b—a—-b-c

=6a—"7b—c

UH 6.

IR GNAT a3 BRI 5 HFAAb 3. I & F 7 Uy T
T: a3, PR Y 10 HAH TG b B. P & Y 3 Vel TR N
3T $d Had T4 URie wieA o fova 300 T fondl
Bd:

a%. PR Y5 HAH = 5a

b¥. IR Y 7 URId = 7b

a%. B XY 10 HAH = 10a

b 3. P ax ¥ 3 URTl = 3b

Pd =5a+7b+10a+ 3b=15a+10b

Bihar Board Class 7 Maths dSig &l& Ex 9.3

UH 1.

i fau Y Sisiig sdsTen! &1 T[0T HifoTe-
(a) (7a + 2b) (a + 4b)

(b) (x—6) (4x +9)

() (5x—1) (3y - 8)

(d) (a3 = b3) (a—b)

(e) (0.7x — 0.2y) (1.5 — 3y)
(f) (3a2 + 5a—9) (3a—9)
8 (x-y)(x-y)

(h) (x2—-5x+ 8) (x2 + 3)
(1) (12x-12y)(x"-y)

() (3pq — 39) (39 — 7pq)
B :

(a) (7a + 2b) (a + 4b)
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= (7a x a) + (7a x 4b) + (2b x a) + (2b x 4b)
= 7a% + 28ab + 2ab + 8b?
= 7a% + 30ab + 8b?

(b) (x-6) (4x +9)
=(Xx4x)+ (xXx9)+ (-6 x 4x) + (-6 x 9)
= 4x% + 9X — 24X — 54

= 4x* — 15X — 54

() (5x-1) (3y - 8)
=(5x x 3y) + (5x x -8) + (-1 x 3y) + (-1 x -8)
= 15Xy — 40X — 3y + 8

(d) (a3 -Db3) (a-Db)
= (a3 x a) — (a3 x b) + (-b3 x a) + (-b3 x -b)
=a%* —a3b —b3a + b*

(e) (0.7x — 0.2y) (1.5x — 3y)
= (0.7x x 1.5%) + (0.7x x -3y) + (-0.2y x 1.5%X) + (0.2y % -3y)
= 0.45%% — 2.1Xy — 3Xy + 0.6y

(f) (38a* + 52— 9) (32— 9)

= (3a® x 3a) + (3a® x -9) + (5a x 3a) + (52 x -9) + (-9 x 3a) + (-9 x -9)
=9a3 - 27a% + 1522 — 45a — 27a + 81

=9a3 — 12a”* — 72a + 81

(&) (x-y)(x-y)

= (5% % X) + (X x 9) + (oY x %) + (39 x )
= X2 + Xy + Xy + y?

= X2 + 2Xy + y°

(h) (x* - 5x+8) (x* + 3)
=x2xx?)+x2x3)+(-5xxx2)+(-5xx3)+ (8 xx?)+(8x3)
= x4+ 3x% — 5x3 — 15X + 8x% + 24

=x4 + 11X — 5%3 — 15X + 24

() (3pa - 39) (39 — 7pq)

= (3pq x 39) + (3pq x -7pq) + (-39 x 39) + (-3q x -7pq)
= 9pq” - 21p*q® — 99° + 21pg*

= 30pq”® - 21p*q® - 9¢*

= 3(10pg® - 7p*q® - 39°)
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TUH 2.
TR HI- _ [l 1 ](u _
(i) —I-E}' X —}]

(@)(a+b)(a-b)+(a—b)(a®+ab+ 2

b?) 1 ANE - | 1

(b) a3 — b3 + (a + b) (a2 — ab + b?) =[E"‘”]*[‘z‘"""‘“]"“[‘E""X"']"["5”""")
(c)m?-n?2-(m-n) (m +n)

() (2a+5b)(3b+4a)-(a+3b)ea _ L2 1 Lo 1 é. vt

+b) 2. 2 2 2 2\

B4 :

(@A) (a+b)(a-b)+(a—Db)(a2+ab+b?
=(axa)+(ax-b)+(Mxa)+(bx-b)}+{(axa®+(ax
ab) + (a x b + (-b x a?) + (-b x ab) + (-b x b?)
={a2—-ab + ab —b?} + {a3 + a®b + ab? — ba® — ab? — b3}
= (a2 = b?) + (a3 - b3)

(b) a3 —b3 + (a+b) (a2 —ab + b?)
=ad-b3+(axa®*+ax-ab+axb?+bxa?+bx-ab+b xDb?
= a3 — b3 + a3 — a®*b + ab® + ba*® — ab® + b3

=a3—Db3 +ad + b3

= 233

(¢)m?-n?2-—(m-n) (m+n)

=m?-n’-{mxm+mxn—-nxm-nxn)
2

=m?®-n?-{m?+ mn — mn — n?}
=m?-n?-m?+n°
=0

(d) (2a + 5b) (3b + 4a) — (7a + 3b) (2a + b)

={2a x 3b + 2a x 4a + 5b x 3b + 5b x 4a} — {7a x 2a + 7a
x b +3b x 2a + 3b x b}

= {6ab + 8a® + 15b* + 20ab} — {14a® + 7ab + 6ab + 3b*}
= 6ab + 8a2 + 15b> + 20ab — 14a% — 7ab — 6ab — 3b?

= 8a% — 14a> + 15b> — 3b? + 20ab — 7ab

= -6a% + 12b? + 13ab
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